(3

saaln=
Mg\\

1190
35 1103 52
AV EREORE 6mm RR N EFFORE 6mm
AN =
[ @B
e i
S| 8 o 3| S
Q| — &
— NER |
C
g
° : \ = ——
L
O
o 7 Moo w2l 8
o - ¢///_
’ o o
0450

B 1720
RTEH. XEx0E

) BROREIASETETT,

D) BRUARISROLYD. FERCEET LAY ET,

BEEH:

vy sF-giE. BHFRLBV T,

y)y§-5& (T-W8) ASCY ) - ZxZEALLEE,
(Ky 7ty F64mm. BEES50mm)

BEEOBAE. HURTI-v VY- CBALE T,

(BB (17 8)

"

SREHN < LRFE BERMT

vy 5 -5ARASC

H1200

1190 (AR

KFTHO5240%* 1

DHAAN (1/8)

NEGHBR (17 8)

5% RIS B B (mm) 1] =1 i z
1 mAEE 050x50x1t3.2 STKR400 HERKRZE (ThERS - %)
2 FHiE 050x50%xt3.2 STKR400 HERKREE (THER®- X)
3 Ali%ey 7 t1.6 SGH HENKZE (ThERS - %)
4 FEAR (RAD 50x 120 AB063S BERECEARE
5 FEMR GEaD 50x120 AB063S BRI EARE
6 MERER 25%x 60 AB063S BREBLEORE
7 HHL LER 3.0 7 IBERBRAN -
8 < - IR+~ -
9 fewn n - 12 A1100P 2%
10 Rixvry T ¢ 16/ F40Y -
11 vy 5§t ASCy Y -X - J- 8
12 EERfATL- b t2 ATV A -
13 FERMTL -+ t2 ATV LA -
14 PES t6 SPHC HENKZE (ThERS- ¥)
15 kyy t6 SPHC HENKZE (THEHRS- X)
16 by It $12 SGD ARED - &
17 gy 4x 20 ATV LA -
18 EE 12 X -
19 ZED) 3.2 SGH HENKZE (ThER- ¥)
20 Wt b M10x75 4.618% BRIEHD - &
21 ¥ IR M5x 10 ATV LA -
22 " M4x 10 ATV LA -
23 EHE )2y MEx 15 AFY LA -
24 F7A by N— H52 7HISANAL -
25 £ b M8x 20 4,614 BRIEH Y- &
26 iHAEE t3.2 SGH - & +HIENAREE
27 R b M8x 65 4.618% BRlds - &
28 | - BEER t1.2 SGHC Ffo- & +HHIENNEE




